REVISED MONT BELVIEU PROPANE FUTURES - 03/14/18 CLOSE

Trade Date:	Wednesday, 14 Mar 2018 (Final)	•

All market data contained within the CME Group website should be considered as a reference only and should not be used as validation against, nor as a complement to, real-time market data feeds. Settlement prices on instruments without open interest or volume are provided for web users only and are not published on Market Data Platform (MDP). These prices are not based on market activity.

Month	Open	High	Low	Last	Change	Settle	Estimated Volume	Prior Day Open Interest
MAR 18	-	-	-	-	+.00970	.79250	0	13,782
APR 18	-	-	-	-	+.01625	.77250	3,875	10,570
MAY 18	-	-	-	-	+.00687	.73875	743	8,032
JUN 18	-	-	-	-	+.00500	.73063	375	6,932
JLY 18	-	-	-	-	+.00500	.72938	410	7,004
AUG 18	-	-	-	-	+.00563	.73188	410	6,230
SEP 18	-	-	-	-	+.00375	.73500	410	6,133
OCT 18	-	-	-	-	+.00375	.74000	275	5,362
NOV 18	-	-	-	-	+.00375	.74375	275	5,358

REVISED ENTERPRISE TE PRODUCTS PIPELINE FERC TARIFF 54.36.0 - RATES EFFECTIVE 07/01/17

RATES (In Cents-per-bbl.)
[U] All rates are unchanged.
Non-Incentive Rates for Propane ITEM NO. 135

		Origin						
Destination	Arcadia (Bienville Parish, LA)	Floreffe Junction (Allegheny Co., PA)	Mont Belvieu (Chambers Co., TX)	Tappan Lake (Harrison Co., OH), Todhunter (Butler Co., OH) & Follansbee (Brooke Co., West Virginia)				
Arcadia (Bienville Parish, LA)	-	_	219.36					
Coshocton (Coshocton Co., OH)	626.83	-	669.63					
Dexter (Stoddard Co., MO)		_	318.17					
Du Bois (Clearfield Co., PA)	701.57 (1)	359.68 (1)(2)	743.40 (1)	359.68 (1)				
Finger Lakes (Schuyler Co., NY)	748.16	523.02	790.21	542.54				
Fontaine (Green Co., AR)			298.92					
Greensburg (Westmoreland Co., PA)	659.73 (1)	359.68 (1)(2)	701.57 (1)	359.68 (1)				
Harford Mills (Cortland Co., NY)		505.39 (1)	792.89 (1)	526.16 (1)				
Kingsland (Cleveland Co., AR)		-	253.53					
Lebanon (Boone Co., IN)		-	375.24 (4)					
North Little Rock (Pulaski Co., AR)		-	267.49					
Oneonta (Otsego Co., NY)		547.09	856.77 (1)	564.73 (1)				
Princeton (Gibson Co., IN)	377.64		408.46					
Schaefferstown (Lebanon Co., PA)		530.32 (2)	801.42	523.29				
Selkirk (Albany Co., NY)		593.57	910.98 (1)	595.12 (1)				
Seymour (Jackson Co., IN)		-	356.56	`				
Sinking Spring (Berks Co., PA)		530.32 (2)	801.42	523.29				
Todhunter (Butler Co., OH)	557.22	-	600.02					
Twin Oaks(Delaware Co., PA)	-	652.66 (2) (3)	-	652.66 (3)				
Watkins Glen (Schuyler Co., NY)	710.31 (1)	486.45 (1)	752.35 (1)	508.56 (1)				
West Memphis (Crittenden Co., AR)	`		318.17 (4)					

Northern Gas Transport, Inc. Box 106 Lyndonville, VT 05851-0106 1-800-648-1075 FAX: 802-626-5039

February 6, 2018

To: All Customers

Re: Fuel Surcharge

As of Monday, February 5, 2018 the Department of Energy New England average price per gallon of diesel fuel was \$3.188. All deliveries invoiced from Sunday, February 11th, 2018 through Saturday, February 17th, 2018 will be line item assessed at 10.0 % fuel surcharge. Thank you and should you have any questions, please contact Susan Noyes at 1-800-648-1075 extension 223.

Best Regards,

Bruce Grant President/Owner

Northern Gas Transport Inc. - Selkirk to Keene

Revised Northern Gas Transport Inc. - Selkirk to Keene

	Gallons	BaseRate	BaseCharge	Fuel Surcharge Rate	Surcharge	TotalCharge	Total Rate Per Gallon
	9,200	\$0.0785	\$722.20	1.00%	\$7.22	\$729.42	\$0.0793
	9,200	\$0.0785	\$722.20	2.00%	\$14.44	\$736.64	\$0.0801
	9,200	\$0.0785	\$722.20	3.00%	\$21.67	\$743.87	\$0.0809
	9,200	\$0.0785	\$722.20	3.50%	\$25.28	\$747.48	\$0.0812
	9,200	\$0.0785	\$722.20	4.00%	\$28.89	\$751.09	\$0.0816
	9,200	\$0.0785	\$722.20	4.50%	\$32.50	\$754.70	\$0.0820
	9,200	\$0.0785	\$722.20	5.00%	\$36.11	\$758.31	\$0.0824
	9,200	\$0.0785	\$722.20	5.50%	\$39.72	\$761.92	\$0.0828
	9,200	\$0.0785	\$722.20	6.00%	\$43.33	\$765.53	\$0.0832
	9,200	\$0.0785	\$722.20	6.50%	\$46.94	\$769.14	\$0.0836
	9,200	\$0.0785	\$722.20	7.00%	\$50.55	\$772.75	\$0.0840
	9,200	\$0.0785	\$722.20	7.50%	\$54.17	\$776.37	\$0.0844
	9,200	\$0.0785	\$722.20	8.00%	\$57.78	\$779.98	\$0.0848
	9,200	\$0.0785	\$722.20	8.50%	\$61.39	\$783.59	\$0.0852
	9,200	\$0.0785	\$722.20	9.00%	\$65.00	\$787.20	\$0.0856
	9,200	\$0.0785	\$722.20	9.50%	\$68.61	\$790.81	\$0.0860
Г	9,200	\$0.0785	\$722.20	10.00%	\$72.22	\$794.42	\$0.0864
L		\$0.0785	\$722.20	10.50%		\$798.03	\$0.0867
	9,200		•		\$75.83	*	*
	9,200	\$0.0785	\$722.20	11.00%	\$79.44	\$801.64	\$0.0871
	9,200	\$0.0785	\$722.20	11.50%	\$83.05	\$805.25	\$0.0875
	9,200	\$0.0785	\$722.20	12.00%	\$86.66	\$808.86	\$0.0879
	9,200	\$0.0785	\$722.20	12.50%	\$90.28	\$812.48	\$0.0883